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Answer any FOUR questions.

QUESTION 1

Read the following passage. Answer the questions in English.

Paragraph 1

line number

YT XY 737 IR 2 08 R I X132 2R WD
DT INYX 1IRXY 07307 0K W2 72 M) DX T N9 AN 3
TN3Y2 77 2077 197 IR OTIN RI MR 1M NN IR R

-— - H T .

2932 "Wl I
Paragraph 2

TR AT DN 7Y 71293 MTIM N3P WY

T 722 YI0 YT DA MR 1109y Mgl 17T v

13Y NING YN DN 129 D172 077 K2 PN T

12373 W2 IRYY 12 7R 22N 17 17230 WK VAT DY Ox

71T 310 A°W3 73RN 0YY3 THIX 28 Kiap 70N

N3 WRYT T 3T TY N 7Y 029 K72 3 2 a7
TN DA T2 2P W WK T2 WY N0 73 W AR
NRTI PIRG NN AN FYT? K2 172 DI NS 1 072 X7 02
NXY *TIpT IR PRI NN 1179 03 FI30 330 TY D08 a3

NI V0N N 20RO NI 19T DXL OANSD N PI0TRD

DI N "W DX I3

NI-298 2RIV N2

Genesis, Chapter 12 Verses 11-13; Chapter 15 Verses 12-21
4

A O DN

00 N O O

11
12
13
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(a) Who is speaking in Paragraph 1?
[1]

(b) Translate Paragraph 1.

line number

NPT, NI 7T IAYR Y 2N R MNIE KI2P 1R W2 T 1
PR IAWR TR DK TN N 22 W) AN AN NDY AWK 03

2
TINY2 77 207 WND DR ONNK KWK VI IORPIN A 3
4

2932 W1 I

[4]




(c) (i) DX ¥ N9 WX 92 °DYT) X1 737 (lines 1-2)

What is surprising about this statement?

[1]

(ii) Offer a solution.

[1]

(d) Explain the use of the Hiphil conjugation in 2% (line 1).

[1]

(e) What does G-d tell Avram/Abram about the future
(lines 6-8)? Give TWO points.

[2]




(f) 737 7v 8D 11y 02w X7 °3 737 1230 v 1IN (lines 9-10)

Explain the ideas expressed in this verse. Give FOUR
points.

[4]

(g) Translate.
line number
AR WRYD N 10

TN DI 12 12V W UK T2 WY V0 A3 W AW 11

[2]




(h) Explain the use of the verb n7> in the phrase
M2 0PN N2 (line 12).

Give THREE points.

(i) Why is there a dagesh in:

(i) o173 (line 11)

(i) 73 (line 13)?

(j) What is the function of the letter ° in:

(i) =038 (line 9)

(if) >m7e5 (line 14)?

[3]

[1]

[1]

[1]

[1]



(k) Where is 173 733 (line 13)? Give TWO points.

[2]

[TOTAL: 25 MARKS]




QUESTION 2

Read the following passage. Answer the questions in English.

line number

RN3 229 790 2K 22 DTN TRV 77 DN TR N TIY XR? K

NP7 021y 137 20T TAIX TV P AP P2 0713 1K AR
22 DX AR TN DX IR YW T 009 SO PP 2N Ty
DFRN 28 D27 VR (DPTOTRY D7 N D21 N2 IR 7N
WY IR IR T TR Y A0 YD 113 1Y 0K

DR7RP 721 79 07 20T TR YW TR 0PI P2 IMRYE

027 297 0O NINY 121 :02°1°21 °1°2 N2 NIRYG 7271 02NV 2 NX
T YR K2 WY 2373 70 A0 NI M3 T 00T 197 23
071 ™37 D32 1703 NN TR0 NI A2 T2 7 2T
YR NI WD NT211 N7 7R DX 21 XY WK 131 2791

120 °0°73 DN

Y MY 02 Y AW DR XIRN KD AWK 7 07728 28 00107 RN
SR 3R DY 2290 DN AT PRI 12 77 73R "AD] 03 ANK AN
N2T 7Y DX 7T MY IR 12373 1292 MR pEn 19 9¥ DN 7eN
TR TID7 MDY ORYDW? 19 D°F2TRT 98 O71R MR 1770 MY DY
NP2 DR NPT PTYY W DR DRI 12 17 D720 AWK 70 238 01978
NP9 IR "R72 137 PRYRY XYY IR 917 079 n137 AR
12972 %937 AN TP aRCw) Y 00w TRY TR72 INR *n°am INR
:NIRT T2 277 7Y? 1Y 7 720 WK PUY NN O°RR NP2 1Y
ND-T 7 PP 7PN 92

Genesis, Chapter 17 Verse 5; Verses 7-21
10
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(a) Who is speaking in line 1?

[1]

(b) (i) Why is the name of Abram/Avram changed to 277X
(line 1)?

[2]

(ii) Explain the presence of the letter 7 in the new name.

[1]

(c) Explain the use of the pronoun 8¥] (line 5).

[1]

11



(d) Give SIX points of the covenant (lines 5-11).

[6]

(e) Give the root of 12 (line 11).

[1]

(f) Write TWO of the statements G-d makes about Sarah
(line 13).

[2]

12



(g) Translate.
line number
N2 7Y OX) 727 MY AN 1370 1273 TN PR 139 9V DR 0N 14
TRPY TID7 MDY ORYNW? 10 DUTRT 98 D71 MRM 1790 MW DYYR 15
NP2 DY IR PUYY Y DY IXTR1 12 77 DT AWK T PR 0008 16

79T 10K RII2 73T TRYRY PRYRYIY PGN WAr7 071 3% IR 17

12973 233 1PN 799 oI Y 20w TR7 TRH2 DR D2 DR 18

[6]

13



(h) Write TWO points about the derivation of the word 72X
(line 16).

[2]

(i) Give THREE examples of a preformative n (introducing a
noun) in these paragraphs.

[3]

[TOTAL: 25 MARKS]

14



QUESTION 3
Read the following passage. Answer the questions in English.

line number
ISR 2] 2P NP2 27K P N3 72 901 2XP UKD 9Y 01

79 33R7 VYT ON LIND  1072 0T 3902 723) 7293 I
PTIN TIT MR IR YRA TR DTN ORAYYTIN 1R WX
NI 739717901 DY 1T 07T IR INNTIYR DY 72 )
250 RPN T202 3K DY MR WD TR T2 I 2R

VIR ARTOR TR WPYL 10703 1227 I MR7R T 101 1Y

21932 W3 DAWHTPTRY T2 NORTNRD 777 7328 N} 233 NI

0 N O O A~ O N -

NiN3T7 Oy 22 K221 1Ry Ni937 oY 92 3907 0791 171713 2197

70> 1151 =Y 77 Ty D aK? M7 vawn o Tiva ogy M Ny

)

17277 QYT RIRG 92 IR DN OYLR WHYTTRIQ 219770 3

-
o

QY7 22 W :2i OY7 22 "1V 1997 APy WK P2 aprya v 44
313 33X NN Y TRTR A0 KD 02 RT3 OV XY 091 12
2873 A77 0T 291 2173 2T WD RIPT VTY 0N Tnd MmN 13
1y DOWR 7773 212 NN DOWINT) 720 WU 71 0PI 3N 14
3Ny Y Ty? v o 15

"I 2723 PO YT I 1IN0 AR N 0D MNYTI2 vaw 16
212 227 W0 QW) MY TONT OV PIRYTI2 D 0T oWIR 47
279V 200N NINATDA 0D T2 130 TN T 18

IAT0 0PI 7Y 003 QYT A0 DNORT N 49

3-R'7.0% —vo " A hRnaw
2 Samuel, Chapter 3 Verses 29-39; Chapter 4 Verses 1-3

15



(a) (i) Who is speaking in lines 1-2?
[1]

(ii) Explain the meaning of the phrase 7722 1027 (line 2).

[1]

16



(b) Translate.
line number
TR NIRRT P 6
21032 W3 DAWHIYTRY TN NIRRT 9T N N 23 nmgn 7
NiN20% avd 22 K221 Ry Nina? ayn 9 10N Y01 AT Y 8

0" o) BPo- Y iy 7 oKy I VAU P TR o T Ay 9

127 AV NG 22 IR D2 DYLR WawaRid 397 ox o 10

210 0¥ 22 °PYR TR0 TWY WK 952 DPrYa 20 11

[6]

17



(c) In lines 5-6 and 9-10, David shows by his actions how
upset he is. Give THREE examples.

[3]

(d) What points does David make in his speech (lines 13-15)?

Give THREE points.

[3]

(e) What is the real name of ‘the son of Saul’ (line 16)?

[1]

(f) How did Abner’s death (line 16) affect:

(i) the son of Saul?

[1]

(ii) Israel?

[1]

18



(g) Explain the phrase 7XY¢-13 17 (line 17).

Give TWO points.

[2]

(h) 772703 2°DOX2T N2 (line 19). Suggest why the Be’erothites/
Be’erotim act in such a way.

Give TWO points.

[2]

19



(i) Write the conjugations / binyanim of:

(i) 1727 (line 1)

[1]
(ii) 12271 (line 6)

[1]
(iii) DT (line 7)

[1]
(iv) W33 (line 7).

[1]

[TOTAL: 25 MARKS]
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QUESTION 4
Read the following passage. Answer the questions in English.

Paragraph 1
line number

DI T THEY 03 TR IV MININ NT X PV 93 W)
RYXT27 D7 TRR 7Y TR PINRY NP3 0iwHw-03 FinnRTo3

PXWITNR YN AYIN ADN T 7 MR IRWNR X2

TR0 2RI PR 2ARIT22 W ROV Ty AR AR

2RO TR TITTIN MWHN > °197 117202 NP2 MY T80 077 NN
DO3Y VY TPMTOY T2 TR0 TR MY DOV 1573 NT MY DI

T T 2NWTR 7Y MY WY WY 120 DY DU e

0 N O O A O N =

"3 73 RIANTRY TR NT7 MR PIRT WP 0200708 DY, PYIRL T2

1% NTEN DR TIT 729N 30 M7 RILTRY KRG DON097) 20T 000N

)

QUOB"NRY 91X VA 2027 1130703 KITT 22 TIT MR (NT VY X

-
o

M08 RI2) X7 009 Y 1RK) 12798 T W3 NI WY 11

TIT 200 AR RIMTT 020 NT IV NT 1Y ATRWN AT NT WD 12
RY) TR DOOR9D MWPR PN MY iy niRQ-y -y LY A7 13
TeR? ™ APPTR M YT TP WAL TR R VI VYOV 2T 14

TN IRy MM2Y2 IR37nR RP1 O XY 15

21



Paragraph 2

A2 TIT Y TR 72V DA 2°19-80 1RTIR 9V NT I 16

972232 12727 TITY X0 W MAP DOTYR AW 2 "1 ORYI 7YY 02 W 17
YN TIRTNN D27YR X 127921 771 173 TION T M7 0 197 18
NI 11900 Y2 T9RWI PIRYTNA D20 71T Y R M IR 727 09I 2P 19

11272 32 1201 > °197 12791 HON MT 1NN 20

0-2°:0,2-8:7 2 ONWY
2 Samuel, Chapter 5 Verses 1-12; Chapter 6 Verses 12-16

22



(a) Why is David in Hebron? (line 1)
[1]

(b) How do the Israelites try to win favour with David
(lines 1-4)?

Give THREE points.

[3]

(c) Give TWO points about °22)d mentioned in line 8.

[2]

23



(d) What do the 92} mean by
DUTIRRT DWW TP0FOR 2 137 KIADXY (lines 8-9)?

Give THREE points.

[3]

(e) (i) Explain the phrase M%2 ¥3") (line 10). Give THREE
points.
[3]
(ii)) What is the root of 122 (line 10)?

[1]

(f) What does Hiram/Chiram send to David (lines 13-14)?
Give THREE answers.
[3]

24



(g) Why is T¥ (lines 6 and 7) in the singular?

[1]
(h) Explain the use of the letter N in:
(i) N33 (line 2)
[1]
(i) n7ER (line 9).
[1]

25



(i) Translate Paragraph 2.

line number

AW M7 Y OTR T2V 1020 2°F0-80 1WTN 2P M7 I 16

97993 2725 T XOV W MR DUTYE AWY 7 TN ORI TR D I A7
YN > TN DO7Y 2R M09 T 173 TION WA TIT 197 18
X1 11707 TYR | ARRWI RPN 271 TIT VY XD 7 W M R 2P 19

11272 12 12017 2197 127213 1100 MT ToRaTNR 20

[6]

[TOTAL: 25 MARKS]
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QUESTION 5

Read the following passage. Answer the questions in English.

Paragraph 1

line number

TPV 10 ONREY YITD VYR TINA W MAYN 39 7Y 950

DX MPWY WK 9377 737 TAT A7 RN TYA WM 1127191 23N 1737
TRPW IRN2n am T2y > oPY) oY Yinn pYT) KD W

T RYNX MRM D12 NOR NI0G? DR WK IR 09-K 0 oyn
NARD I8 K7 221X J009W 27 9 0727 031 "I0R03 02 V178 171V

N2V 0790 72 NPIRY 075 2WA DIRT DY? TV 17 RN pnnov

T

A1 YRt 28R V7R A7 VAR 0XIPT TIH YN RN 108
N1 P20 DRYT T2 D3 K2 13 NN TY2 18 VR77 Opn

A2 1YAN KDY TURY DNATYY DON2RT 1N A7 1WA SV aN) (;nvhan
WY 723 0N AYR? WY DX WM 29 7Y 773 vpom

NR 72 100 RYIN TVR? WR DY ANIAG XM YT RI2M K’pm

Ay NI WK

7%-% 02 M9
Ruth, Chapter 2 Verses 10-18
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Paragraph 2

line number
UOR Q2% 137 22 D37 TRRT Y1 7R3 0¥ DX 00197 DR 14

T2 IR TY27 ORI MNN DONY2 AR NRN MY 10N 1981 15
N °IPIR 2 DD DN O°TY DY 291 DIRT2 192 MNP oW 16
N DY D3] PRYY TR T 1737 WY 72 DR TR WY 72 17
N2 0701 7Y N oW DORT? TWR? 07 001 1920n DWR maNRT 18
'7; IR 1010 QRN DTV RIPR W YON avn DRT av N1 19
702 % R2T AWRG DR 07 077y D03 W2 WX oYl 20
TN 20 ARY PN 02 NN DAY 2 WK N 9T 21

o7 32 00 XY 22
NS-T: 7 M9
Ruth, Chapter 4 Verses 7-11

(a) Who is the subject of line 1?

[1]

28



(b) Translate.

NX WY WY 7377 737 T3 z
QY 7% 270 TNT2 TN TRRY IR AV YR N0 R Ing 3

TRV IR72WR "INt T2y 0 DWW 2N YT XD WK 4

[2]

(c) In what ways does Boaz show kindness in lines 7-8? Give
THREE points.

[3]

29



(d) Translate.
line number

X1 VR20 DOVRYT T2 D3 ToRY I DY TV NN 0R77 DR 9
172 MYAN K91 TVRY1 DNV 2°NIXT 1 A7 19WA W 031 17730 10

WY 722 0N AYR? WK DY UM 2 7Y ATY3 UM 11

[4]

(e) Describe the law mentioned in lines 14-15. Give THREE
points.

[3]

30



(f) In lines 16-19:

(i) What does Boaz say he has done? Give TWO points.

[2]

(ii) What are his reasons? Give TWO points.

[2]

31



(g) Explain the meaning of the following:

(i) 70982 20 AWY (line 21)

[1]
(ii) 277 122 0% X (line 22).
[1]
(h) Give the derivation of ©V2X”1 (line 8). Give TWO points.
[2]

32



(i) Explain the vowel of the letter ) in the following words:

(i) XM (line 12)

[1]
(i) WM (line 19)

[1]
(iii) 78797 (line 21)

[1]
(iv) 72y (line 21).

[1]

[TOTAL: 25 MARKS]
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QUESTION 6
Read the following passage. Answer the questions in English.

Paragraph 1

line number
"I RPN T2 Y XD DX ORN 200 NP X WP MM AN 7
NX UOR 922 D02 00 P20 7Y 1PNIP30R 22WM N7 TV 2% o

T2Y WK NO2YRT 227 MR TRT AT A8 72 YT 08 MR Y

A O DN

VYT R PY NN DY WY TN A3 TORA A3 T

W=23%:21019
Ruth, Chapter 3 Verses 13-15

Paragraph 2

T IR X9 TN K3 VYN VoD DITY 20 28 D70 X mown
2971 12742 T2 WP PR W 72N X9 MY 28 T2 X 03] 217X

N2V I 2RI PINT WHY mpmn X221 2RI YR NYY 037y YR N8

0 ~N O O

;NI 7123 793X 92 aRIM 91232 IR KDY K

JT=T:N° 25D
Judges, Chapter 11 Verses 17-18

34



Paragraph 3

line number
129 °132 D77 DAY AT MNDY7 TN AYIDY T2y oYILN WK PR 9

27 UPR ;7778 MRDY MRM WK T2Y W1 A3 TRV 177 IR XD U7 10
NI [T ONIX DRYYIT R?) 0ONR PYINY TR 192Y °321 Ry W 070 11
TR71°T02 ™ DIN1 1Y 232 X TI2YN) °D22 W1 MR Wi AR 3 12

DY DN TYPX WIR 92 DY NR9Y Yapn 2 anyiay nig oba R anhy 13
TN TY73 OON OTI9N W7D MR 0D DON DX TYRI VIR 1N WY 14
TN °3 T DI9R? 17720 NIN2YR DY TV 19N AWIR TIN2 0798 15
TR XD MR AR ONPRT TYPI VIR 17 170KM 72PN 2198 W78 16
R IO INIR AR 12 9277 1927 KDY D720 K" N7 X1 MR Y 17
:TI2X DU DY D198 X°TT NY3 790 1770 ninayn 18

1-N:2° 2D
Judges, Chapter 12 Verses 1-6

(@) Who is speaking in line 1?

[1]

35



(b) Translate.

NX PR 037 0032 OpR1 P27 TV Niv3n 22Wm 2

T2V WK NOOVAT 22T MNP 7T TWRT AR 0D VIP DR MK Y 3

YYT R TY DY W WY T A2 IRM A2 4

[4]

(c) Who is narrating Paragraph 2?
[1]

36



(d) Where is:
(i) Edom?
[1]

(ii) Moab?
[1]

You may draw a sketch map.

37



(e) What do the Ephraimites say to Jepthah / Yiftach
(lines 9-10)? Give TWO points.

[2]

(f) What does Jepthah / Yiftach reply (lines 10-13)? Give
THREE points.

[3]

38



(g) :TWn 7IN2 09N TIN2 TYP3 DOX 09X VW73 1MWK D (lines 14-15) is
difficult to translate.

Explain the meaning. Give FIVE points.

[5]

39



(h) (i) Translate.
line number

TN 16
2% AT INIR AN 12 2277 PI) NP1 0720 MR N7 K3 M 17 17
1703 NIV 48

[2]

(ii) n7av (line 17). Why do the men of Gilead choose this
word?

[1]

(i) What is the function of EACH ? in the word ’3’7? (line 1)?

[2]

(j) What is the function of the final ] in 7117]°1 (line 7)?
[1]

40



(k) Give an example from any of the passages of a verb
where the last two root letters are the same (also known
as V"V / geminate).

[1]

[TOTAL: 25 MARKS]

END OF QUESTION PAPER
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